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Олимпиада по английскому языку 9 класс

Рекомендуемое время выполнения заданий – 45 минут.

1. Find a mistake in one of the underlined fragments.
[image: image1.jpg]1
They have been cookmg

for over three hours

before the guests arrived.




А) 1

Б) 2 

В) 3 

Г) 4
2. Make up a sentence from the given words.
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А) 5, 1, 3, 11, 7, 6, 9, 2, 10, 4, 8

Б) 5, 3, 1, 10, 7, 4, 9, 2, 11, 6, 8

В) 5, 1, 11, 3, 2, 4, 9, 7, 10, 6, 8

Г) 5, 1, 3, 11, 7, 4, 9, 2, 10, 6, 8
3. Match the following names of animals, birds and insects with their pictures.

[image: image3.jpg]; a) bubble bee b) vulture
g cC) ferret d) locust
: e) dragonfly f) heron
g) newt h) trout
i) beaver





А) 1d, 2g, 3e, 4a, 5b, 6f, 7i, 8h, 9c

Б) 1d, 2g, 3e, 4a, 5b, 6i, 7f, 8c, 9h
В) 1b, 2e, 3g, 4a, 5d, 6f, 7i, 8h, 9c

Г) 1a, 2g, 3e, 4d, 5b, 6f, 7i, 8h, 9c

4. Form compound adjectives using the words below.

[image: image4.jpg]A el 2 0 gt gl o

1. It was alll-minute decision. 2,
2. She is a[@@-known actress. “

3. That is a (an) @ -fashioned dress. - ,,_."
4. She is a [} -famous singer. 9 "'

5. We watched the [ii-length version of the movie.




А) 1с, 2a, 3b, 4e, 5d

Б) 1a, 2c, 3b, 4e, 5d

В) 1с, 2b, 3a, 4e, 5d

Г) 1с, 2a, 3b, 4d, 5e
5. Fill in the gaps with the right postposition.
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1. There was a danger that the fire would break ___

2. 1 would like to break ____this dull way of life.

3. | hear that Peter and Stella are breaking ____

4. You will break ___ if you work too hard.

5. Mary has made an attempt to break ___ journalism.



 
А) 1d, 2c, 3b, 4a, 5e

Б) 1a, 2c, 3b, 4e, 5d

В) 1с, 2b, 3a, 4e, 5d

Г) 1с, 2a, 3b, 4d, 5e
6. Choose the right variant.
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А) 1a, 2a, 3c, 4c, 5a

Б) 1b, 2a, 3c, 4b, 5a

В) 1d, 2a, 3c, 4b, 5d

Г) 1c, 2c, 3b, 4b, 5a

7. Choose the right option to complete the sentences.

[image: image7.jpg]*I'II send the document as J to my next e-mail.
a) an attachment b) attached c) attachable d) reattach
#it was an expensive watch with a diamond J

a) mover b) movement c) movable d) moved
isnew _Y¥__ was put to use.
“a)inventful b)inventor c)invention d)inventive
ow historically significant is this _¥__?

) discover  b) discoverer c) rediscover d) discovery
e enjoy time together.
a) spend b) spending c) misspend d) overspend




А) 1a, 2a, 3c, 4c, 5a

Б) 1b, 2a, 3c, 4b, 5a
В) 1d, 2a, 3c, 4b, 5d

Г) 1a, 2b, 3c, 4d, 5b

8. Fill in the gaps with the following words.
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А) 1b, 2a, 3d, 4c, 5g, 6e, 7f

Б) 1b, 2a, 3c, 4d, 5e, 6g, 7f
В) 1a, 2b, 3d, 4c, 5g, 6f, 7e

Г) 1d, 2a, 3b, 4c, 5g, 6e, 7f

9. Solve the riddles.
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2) [image: image11.jpg]M E1=U ¢




3)[image: image12.jpg]CiNuw' N




А) 1 nightmare, 2 miniature, 3 coincidence
Б) 1 magnanimous, 2 miniature, 3 coincidence

В) 1 nightmare, 2 magnesium, 3 candescence

Г) 1 palmate, 2 machine-gun, 3 cannonade

10. Put in the jumbled words and find out the key word.
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А) challenge

Б) celebrate

В) crossword

Г) difficult
2
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